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city=[40, 118;31, 122;36, 140;37, -123;41, -76] ;
R=6400+10;



theta=city (:, 1) *pi/180:
fai=city(:,2)*pi/180;
x=R*cos (theta) . *cos (fai) ;
y=R*cos (theta). *sin(fai) ;
z=R*sin (theta) ;
op1=[x(1);y(1);z(1];
op5=[x (6) ;v (6) ;z(5)];
Dnew=R*acos (op1' *op5/R"2)
Zh IR

Dnew = 10964. 38
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R=6400; fai=city(:,2)*pi/180;:
theta=(-90:15:90) *pi/180; x=R*cos (theta). *cos (fai) ;
fai=(-180:15:180) *pi/180; y=R*cos (theta). *sin(fai) ;
X=R*cos (theta) '*cos(fai); z=R*sin(theta)

Y=R*cos (theta) '*sin(fai); t=(0:20)/20:

Z=R*sin (theta) '*ones (size (f X=(1—t) *x (1) +t*x (2) ;

ai)); Y=(1-1) *y (1) +t*y (2) ;
colormap ([0 0 0]); Z=(1-t)*z (1) +t*z (2) ;

mesh (X, Y, Z) ; r=sqrt (X. ¥X+Y. XY+Z. *7) :
axis off X=R*X. /r:Y=R*Y. /r;Z=R*Z. /r;
hold on plot3(x,y,z, 'r<', X, Y,Z, 'b",
city=[40,118:41,-76] : 'LineWidth', 2)

theta=city (:, 1) *pi/180;



